5.5 Practice - Multiply Polynomials

Find each product.

(
(3z + 4y)
o+ 5y) (8 + 3y)
23) (r —7)(6r2— 7 +5)

25) (6n —4)(2n%—2n +5)

27) (62 + 3y) (622 — Twy + 4y?)

29) (8n*+4n +6)(6n* —5n +6)

2) 4k(8k +4)
4) 3n2(6n+7)

6) 3(4r —7)

8) (22 +1)(z — 4)
10) (r +8)(4r +8)

12) (Tn — 6)(n +7)

) (
) (
) (
16) (bz —6)(4x — 1)
) (
20) (
) (

22) (ba+ 8b)(a — 3b)

24) (4x +8)(42?+ 3z +5)

26) (20— 3)(4b>+4b+4)

28) (3m —2n)(7Tm?+ 6mn + 4n?)

30) (2a*+ 6a+ 3)(7a* — 6a+ 1)

32) (Tu?+ 8uv — 6v?)(6u? + duv + 3v?)
20 —3)

(2x —6)
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5.5

1) 6p — 42
2) 32k%+ 16k
3) 122 +6
4) 18n®+ 21n?
6

7

12r —21
32n% + 80n + 48
8) 222 —Tw —4

9) 566 — 19b — 15

10

)
)
)
)
5) 20m® + 20m*
)
)
)
)

) 4r? + 40r+64
11) 822+ 222 + 15
12) Tn?+43n — 42
13) 15v% — 26v + 8
14) 6a* — 44a — 32
15) 2402 — 222 — 7
16) 202 — 29z + 6
17) 302% — 1dxy — 49>
18)
19) 3z% + 13z y + 1292
)

20
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1612 + 10uv — 2102

40u? — 34uv — 48v?

Answers to Multiply Polynomials

21) 5622+ 61xy + 159>
22) 5a% — Tab — 241°
23) 613 —43r2 4 12r — 35
24) 1623 + 4422 + 442 + 40
25) 12n® —20n2 + 38n — 20
26) 8b% — 4b* —4b — 12
27

28

362 — 242y + 3wy? + 1293
21m3 +4m*n — 8n?

29) 48n* — 1613+ 64n% — 6n + 36
31) 15k* + 24k3 + 48K> + 27k + 18
32) 42u* + 76uPv + 17uv? — 180*
33) 1822 — 15z — 12
34) 102% — 552 + 60
35) 242 — 18z — 15
36) 162> — 442 — 12
37) Tz — 492 + 70
38
39

40

4022 — 10z — 5

)

)

)

)

)

)

)

)

)

30) 14a*+ 30a® — 13a® — 12a +3

)

)

)

)

)

)

)

)

) 9622 —
)

3622+ 108z + 81
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